8.5 Practice Set

Find the intersection points for each of the following pairs of relations by solving the
system of nonlinear equations.

1.

{y=x2+3x+2
2x+y =2

y=log,(x—1)+1

x2+y2=9
y = e2*
{y=36x—2
{y——x2+4
y=x%—4

{y=(x—1)3—2
y=—x+9

1

y=—[x+3[+1
o |

Y =7
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Distributed Practice Problems

Solve each of the following equations and inequalities.

11.
12.
13.

14.

15.
16.
17.

18.

19.
20.

y* =6y =3
—|3x - 5| +2=-14

logs(x — 1) — logsx = 4
73x+1 = 4%

Vv3im—4+5=8
5x* — 5x3 — 45x2% = —45x
(log x)? —8logx = 9

xX2+45x+6
x2—-4

>0

X 1
<=
x+2 X

|-2k + 15| -3 > 8
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